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Time: 3 hrs. L‘“ ng Marks: 80

Note: Answer\a/ /FI VE full questions, choosing one full questton/f&(m each module.
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7l Module-1 e Y
-1 a. Discuss the neecﬂf@%”stack memory in microcontroller. HQVK gt‘;):k is operated in 805 pc?
What is the default To ibp of stack? N W (06 Marks)

b.  With an example explai 1n ‘the various addressing modes usgd\gp 8051 pe (any four).(06 Marks)

€. Compare RISC and CISQ«ﬁnwro controllers. <\\ \/ 7 (04 Marks)
2/ SN
\\ OR ::
2 a. Explain the bit pattern of pro gr% states word. (06 Marks)
b. With a neat diagram, explain the:§1pps)to mterfagze \éﬁ bytes of program RDM and 6 K bytes
of data ROM to 8031 based system‘ (v (06 Marks)
c. Identify the addressing modes of thc{ﬂ’}i?owmg\ﬁstructlons
B i) MOV C, A, @ A+tDPTR ,\',
; i) MOV DPTR, #1234 &
iii) MOV A, 4 \\\ S >
; iv) CLRC (04 Marks)
3 a. Write a program to find the squarg’Joot ofa glveh\humber (06 Marks)
E b. With a neat diagram explain-the: r’ange of JUMP and CALL instructions. (08 Marks)
: c. Explain the following msu; ctloﬁs iy DA A, ii) ANL C, PZ 5 (02 Marks)
Ty ( \*’r } e ]
OR \,x, =
4 a. What are assembler du:eqt%'es‘? Explain any four of them w1t "n}xample (06 Marks)

b. Assume that reglsi;eﬁ ‘A’ s loaded with number ‘N’ (any mt\é‘éi v;a/‘lue from 0 to 255). Write
a program to cou(it ﬂ’(e humber of ones in even numbered bits ofaés/umuldtor (05 Marks)
c. Writea program\t@‘gpmplement the content of accumulator 625006tfm63\ (05 Marks)

Gppeass ae e

LA i o
L 3

G Module-3 ST

: ’ 5 a. Explain th \‘figerent data types supported by 8051C microcontroller. < / S\ (08 Marks)

5 b. Write &P ro%;am to create a square wave of 100 Hz with a duty cycle otf 8@;@ on port 1.1.

g Use tu’ﬁei/ and operate that timer ‘0’ in mode ‘1°. Assume XTAL finoy == ¥2- MHZ
) 4\\ ((}8 Marks)
! Qo ) OR 5o
6 a. A‘swn}ch is connected to pm P1.2. Write on 8051 C program to monitor ‘SW’ an(? creafg the
@l]\o;vmg frequencies on pin P1.7. // ;
£
’SW=10:500Hz
SW=1:750Hz
Use timer ‘0°, mode ¢1° for both of them. Assume crystal frequency = 11.0592 MHz.
(08 Marks)
b. Write an 8051C program to them bit P1.5 ON and OFF 50000 times. (03 Marks)
C.  Write a program for counter ‘1’ in mode ‘2’ to count the clock pulse and display the state of
the TL, count on P2, (05 Marks)
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W}‘i{%_g program to retrieve the data serially and put them in P1. Set the ban%‘%fg at 4800,

Subifdata and one stop bit. X (06 Marks)
Writ%‘{ %&)051C program to transfer the message “INDIA” serially at 9___6Q,0¥féi‘nd rate, 8 bit
data a@ e stop bit, continuously. (5:{\ //f’} (06 Marks)
Explail’iil”t'/!;ij/elfﬁmportance of TI and RI flags. {;‘;::\lv‘ (04 Marks)
N ™
\,:\,fl}f\ OR Zf/\\ﬁ_
What is an 1me/f yps? List the various interrupts of the 8051 Wi@]tlﬁh\?' corresponding vector
address. i > (06 Marks)
Write a program\':ghé{t’l continuously gets 8-bit data from }%’l&ﬁnd sends it to ‘P1’ where
simultaneously creat'{r}g’rj \square wave of 200 us period 0‘(‘\? \;PZ.I. Use timer ‘0’ to create
square wave. Assume\‘\[ﬁiﬁi.jZ\i\y\= 11.0952 MHz. /5\\: N (07 Marks)
Explain simplex, half dlu\a\léx‘hpd full duplex serial datatrangsfer. (03 Marks)

i} C\k‘;\'v:’
-y Module-3 (’v’“}%ﬁ
A switch is connected to pin 1%2.7,-~§Nrite a ‘C’@Stqétdm to monitor the status of ‘SW’ anc
[ ' /‘)

perform the following: Ny \\‘j

i) [fSW =0 : the stepper motof”ﬁi)gfﬁgs\cloq’ﬁjhci@e.

i) [fSW =1 : the stepper motor rﬁéf/ﬁé;g({qﬁeﬁélock wise. (10 Marks

Explain the control word format of 8265 (06 Marks

N th'/';’,siy

Explain the various modes of 8255 éﬁéﬁiﬁﬁd\'ﬂ}/gg@ntml word for following configurations:

i) Allports of A, B and C are O} QEts (mo(’iéf"f)’)\

i) PA =IN, PB=OUT, PCL <QUJ and PCH =OUT. (08 Marks

Explain the steps to interface ADG0808 to the 805}5ﬁ}§rocontro ller. (08 Marks )
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